EXERCISES

40 TOT~HOHERXDI L, =2 PMFICHEEDDIENTT ). TRTEY, TOils

EEXL IV, >>lIEE 61
7)) x—3=1 ) 3x=6 (& 2x+1=5

@) 27-3=r o) %;r=1

41 ROFEXZME LRIV, >>{G%E 63~65
(1) 5x—16=14 (2) 7r=3z—20

(3) 122—5=16x+3 4) 9(r—6)=11x+2

(5) —4(z+3)=5(6—2x) (6) 0.2x+1.8=3—0.4x

(7) 0.5(x+1)=0.22+2 (8) 0.4(x—2)=0.1x+0.7

42 ROFGBXZME RS v, >>GI% 66
2 3 .1 3,71 3
(1) Fx—?)— 10x+ 5 (2) 5x+ 6=3T
1 . 5 3 1-2z , 2—5_ 1 _
(3) §x+1— 5 47t (4) 5 + 3 5 3r

43 IOV TO 1T Ga—Dxt+a—7=0 DFNR r=—1 DL X, aDfizRDEE WV,
(=8 »HlE6T7

44 ROEBRIZONWT, zOfliZRDHEE WV, >>f5I%8 68
(1) (z+6):28=2:7 2) (z—1): Q2x+1)=5:13
(3) (r—1) :3=(x+3):5 (4) 2:3=0Bx—4) : bx+2)

Vevr 42(2) 4B05 6, 3 2 DRIAEMIE 30
(4) mAIC6ZEZMFDE 3(1—2x)+2(x—5)=—3—18x
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